1FBF B=#H (45 k gXiF)

1 R 2K

2 R I&3f

w
T
b3

AE

5 I KM

6 BFE X

7 Rl UEBK

10 BEX #HZ

11 & B

(7 S5 == 48)

(FRF0)

(12 4 )

(FRIE)

(K#A)

(FRF0)

(R4)

(12 4 )

(K#A)

(12 4 )

(5R)

32

52
33
34

53
35

62




1EB8F BhEHk (45k gl ES50k gkiE)

1 2% % (B& &)
2 FE PR (AHEFR) %

.
3 MK (KH=)

54

4 s &3t (BX)

8
5 BA KB (&)

37

6 H#IH FE} (hx)

9
7 RA HE (FIE) —— 63
8 HLE IAEB (F8)
9 MEE AR (%) %

10
10 B0 Hum (R 4 @)

55

11 FIx 1&& (1R 4%)

11
12 5 FEB (= EmHED)

39

13 =H EX (GEm)



1FE8F HEHK (50k gl E60k gkiE)

1 KfE W% (A& &)

40
2 AP E2Fg (12 # [4)
12
3 EF BEX (RR#0)
56
4 K BHE (2~ )
13
5 18 (R 4E)
41
6 HE %K (K#A)
14
7T FH EBER (FRHE)
64
8 H4H ZF} (RiE)
15
9 PB ki (12 » [4)
42
10 IkH BEE (K#A)
16
11 B XF (1%)
57
12 BEH = (Aet®)
17
13 kg BE (HR4£)
43
14 IR BE (FmM)
18
15 K2 B8 (FRIE)




157 EEH (60k gdb)

10

11

12

13

i
T
=

N
IR

FREB

3t

X

(F=2)

(FE)

(%)

(FRIE)

(HE &)

(Bx)

(& FE)

(12 4 )

(Bx)

(FE#0)

(F2)

(FE)

(HE &)

44
19
58
20
45
21
46
22
59
23
A7

65




1F&%F

10

11

12

13

14

15

16

17

18

19

i

&M

HH

W

1S

N

A1 ]

12 ™

F 5

T
M

RLZE

—

N

FRAER

R

HLLH

EERIR

(BHEFBR)

Cle)

(4 M)

(FA#0)

(4 M)

(5R)

(FIEHR)

(F2)

(F&#D)

(4 M)

(4 M)

(FRIE)

(F&#0)

(A R)

24

25

26

27

28

29

30

31

48
60
49
66
50
61
51




